#13 Solving Systems of Conics






Name_____________________
Solve each system algebraically, then graph to confirm your results.
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Graph the parametric equation:                                                       Eliminate the parameter:
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	16. Mrs. E’s dog, Coco, sees a squirrel in the back yard. The squirrel and Coco are both 100 feet away from the same tree that the squirrel is attempting to take refuge in, not knowing Coco just wants to play and race to the tree. Coco: 
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After 3 seconds, _______________is ahead by ____________feet. 

After 7seconds, _______________is ahead by ___________ ft.

__________ wins the race by __________feet with a winning time of _____________ seconds.
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